Grammar:

Which gives the syntactic definition of the language is called a grammar for that language. A grammar is defined by a 4-tuple G=(VN, VT, S, (), where VN is a non-terminal, VT is a terminal, S is a start symbol and ( is a finite number of relations.

Production:

A production or production rule in computer science is a rewrite rule specifying a symbol substitution that can be recursively performed to generate new symbol sequences.  If a production is A(B, then A can be replaced by B.
Classification of Grammar

1. Universal Grammar

· have no rules

· have no restrictions

2. Context-Free Grammar

· contains only productions of the form A(B, where |A|<=|B|, where |A| is the length of A

· Terminals may exist at left side

· Example: G=({S,B,C}, {x,y,a,c},S, (), where ( are

· S(aSBc

· S(xyC
· yB(yy
3. Context-Sensitive Grammar

· contains only productions of the form A(B, where |A|<=|B| and A(VN
· left side never contains terminal symbol

· at right side terminal may be prefix or postfix of non-terminal

· Example: G=({S,A,B,C}, {x,a,c},S, (), where ( are

· S(xCx

· C(xB

· B(Ac

· A(a

4. Regular Grammar

· Contains only productions of the form A(B, where |A|<=|B|, A(VN, and B has the form tN or t, where t(VT and N(VN.

· no terminal may exist at left side

· at right side terminal may be prefix of non-terminal

· at right side terminal may never be postfix of non-terminal

· Example: G=({S,A,B,C}, {x,a,c},S, (), where ( are

· S(xS

· C(xcaB

· B(acA

· A(a

